K0633_G

E2IAE WA DT ¢l
£2 AEoI A oIniA 2
=3 dY/HIE o[o] x|

© HEINRICH KIPP WERK GmbH & Co. KG

My

THE!:

AR T

2 E Es ®al:
4 52 5.8.
AHIQIPA AE HA:
&= E Fs ®Mal:
LIA} £2]E 1.4305.
2 El 1.4034.
HIZE, SRR 2tZ
LIA}F &£2]E 1.4305.
A2 E 1.4305

AE[QlEA AR T

T2 33 ot 2 £33

2T Zsh ook 2 B3R S

e

Qe A ZHX = 5H 2lof 28t &3 x|
HEE YxIaHoF sh= RO ALHSE.
HMEEE +SCEEFHOE XS
X2 ol = US

= .
H=E 2EE Z0|7| el 237 2 AME
B2 = US. UH S HAZS £ E
otzHoll M oM & Eo| &R 2
MURTF F

AL

S5 A A,

MAMIAME]:
A 0|M & K0665

www.kipp.com - info@kipp.com 1/3



°
=ZAalLAE > b X1 I o = oi= AEI
=ZtAE HAYE Jglu HEE &= Elo] o111 ERX|7} gl 2E
=0 cllA =
=2 AH[QlYA oA SR
=y
-
[}
x .
[ ]
~
T
] .
— L
D-U,OQ
-0,04
B | .
—
=29
FEHs HY EAME EH D D1 D2 L L1 L2 AEZ3 Fx30° A& &4 FE B
712 S| S EbN E2  AI=QI9M
F1 2N F2 2. N
K0633.21903 G AR a3t 3 M6x0,75 14 33 17 11 5 0,8 4,5 12 K0344.99
K0633.21004 G AEl dst 4 M8x1 18 40,5 21 13,5 6 1 6 15 K0344.90
K0633.21105 G AE dst 5 M10x1 21 46,524 14,5 8 1,3 5 16 K0344.91
K0633.21206 G AE a3t 6 M12x1,5 25 54,7 28 17,7 9 1,8 6 18 K0344.92
K0633.21308 G AE! dst 8 M16x1,5 33 72 36 24 12 2,3 15 45 K0344.93
K0633.21410 G AE dst 10 M20x1,5 33 79 40 24 15 2,8 15 43 K0344.94
K0633.21412 G AE a3t 12 M20x1,5 33 84 42 24 18 2,8 15 51 K0344.94
K0633.21516 G AE! dst 16 M24x2 40 104 50 30 24 3,2 20 60 K0344.95

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
=] = ST =] I_
%EP‘E' HA1S Jglnf ¢zE &= El0] 911 EX| 7} gl A
=2 AHQIA olHiA Zpix
Z= Qo

FEHS EF EX A EH D D1 D2 L L1 L2 AEE3 Fx30° AE EtM FE WS

712 S| S EtM Z2 ATEQI9M
F1 2N F22%. N

K0633.201903 G AE[QIFA AE Z3f 3 M6x0,75 14 33 17 11 5 0,8 4,5 12 K0344.99
K0633.201004 G AE|QIEA AE Z8t 4  M8x1 18 40,521 135 6 1 6 15 K0344.90
K0633.201105 G  AHIQIFA AE A3t 5 M10x1 21 46,524 14,5 8 1,3 5 16 K0344.91
K0633.201206 G AHIQIFA AE A3t 6 M12x1,5 25 54,7 28 17,7 9 1,8 6 18 K0344.92
K0633.201308 G AE|QIEA AE Z#s 8 M16x1,5 33 72 36 24 12 2,3 15 45 K0344.93
K0633.201410 G  AHIQIFA A& 23 10 M20x1,5 33 79 40 24 15 2,8 15 43 K0344.94
K0633.201412 G AHIQIFA AE A3 12 M20x1,5 33 84 42 24 18 2,8 15 51 K0344.94
K0633.201516 G  AHQIFA A& 23 16 M24x2 40 104 50 30 24 3,2 20 60 K0344.95
K0633.211903 G  AH[QIBA AR H|AS 3 M6x0,75 14 33 17 11 5 0,8 45 12 K0344.99
K0633.211004 G AHIQIBA AR H|ZES 4 M8x1 18 40,521 13,5 6 1 6 15 K0344.90
K0633.211105 G  AHE|QIBA A& HIZ@8 5 M10x1 21 46,524 14,5 8 1,3 5 16 K0344.91
K0633.211206 G AE|QEIA AR H[FES 6 M12x1,5 25 54,7 28 17,7 9 1,8 6 18 K0344.92
K0633.211308 G AHIQIEA ARl H|ZAS 8 M16x1,5 33 72 36 24 12 2,3 15 45 K0344.93
K0633.211410 G  AHIQIEA AR H|AS 10 M20x1,5 33 79 40 24 15 2,8 15 43 K0344.94
K0633.211412 G  AH[QIBA AR H|AS 12 M20x1,5 33 84 42 24 18 2,8 15 51 K0344.94
K0633.211516 G  AE|IQlBIA A8 H|ZS 16 M24x2 40 104 50 30 24 3,2 20 60 K0344.95

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

3/3



